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7-7. Determine the shear stzess at point B on the wat ol

the cantiteverad strut at section a—a.

*7_K.,
section g-a of the cantilevered strut.
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Desermine the maximum shear stress acting ot
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4_17. Detcrmine the largest end forcos P thas the memnes
can support if the allowable shear Sress I8 7o ~ 10 kst Ioe
supports at A and B only exert vertical reactions ¢n th¢
beam.

7-18, 1If the force P = 8001b. determine the manimir
shear siress in the beam at the critical section, The supperts
al A and B only exert vertical reactions on the beam
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7-19. The T-beam is subjected to the loading shown.
Determine the maximum transverse shear siress in the beam

at the critical section,

LplLoTiond! —~
. 20 kN % KN/

—

cermeeoi L]

Zma‘.c = ig‘_
Tt

v o= Ve = 2H-STFRM

—_ :%H—g
BT =

1 X220 X 1o+ 20X16€0X F0

LEOY20 & JupR0 Ay =1qMT Ry
151"13“’“’“) )
= femn A Ve -
Oy - : oA = EDmmy-
2O pppm U MM %, D bed m -
‘ mN

™ % ~
—"_\A:I@i_z_ﬂﬁ. \foX 20 R [ o)
12 |

:é, .
A 2_0)5‘_%/0_ + 16DX20X [ QD -3D)

— <ozxigtmmd

—

- A9 = 20 x0 x DO
&= RS 2
—t = Q_Or‘ﬂm
VA L
e T T4

—_—
— —

' 'Z _ {L,go}SHHPQL.
T max

24U Nv7F xId

b Y XioEMME.

> X b%xroz

$.23 x(0° £20



| peopLeMrr M LT S23)

4-23. The beam is made from three plastic preces givsw

o T together at the seams A and B, 1f il is subjected 1o the lorading
shown, deterniine the shear stress developed in the glued
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joints at the

flange of the beam at the critical section. The supports at ¢
and D exert only vertical reactions on the beam.

critical section. The supports at € and D exert
only vertical reactions on the beam.

#7-24, The beam is made from three plastic pieces glued
topether at the seams A and B. If it is subjected to the joading
shown, determine the verlical shear force resisted by the 107
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Probs. 7-23/7-24
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e together at the top and bottem with twe 1ows of nu
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[P ROGLE H Z(HF s ( + —33) 7-33. The beam is constructed from 1wo boards taston

spaced cvery 6 in. If an internal shear force of V' = 600
is applied to the hoards, determine the shear foree resist

LpLUuTion! =~ by each nail.
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7-39. The beam is made from three polystyrene strips ta!
arc glued together as shown, If the glue has a shear sur newh
of 80 kPa, determine the maximuwm load £ that cen e
applied without causing the glue to lese its bend.

.IBQ_LU Tip Y —

Requeecp - P= ¢
Uitol Shaan 5*‘“\5'{;?: Zp ea -

30 mm
Nenays 2 ¢, — p
) Y. | l
!'I'Iﬂ'l P I
4 i
. : = 20 mm * +
T - ZX ‘BOXMO} Z2oxXY 1 _2J 60?11'11 — Y N -
> _\_i‘ —\— Oj\( 9] 03‘ {_ : Al[[.,.. d, k!
40 mm ll ‘ i ) I
z, 4 rO8m=—Ilm—=" I m—=0%w-
v ozoxic
|
2T = 662 xich e Prob. 7-39
4220 s
~1 . P
&: O n( o @m level D Pl l Pl
- 4
: s
= Zpo¥A0x SO 7 /[
Ay 036R ¢ =
- 6o YioT e d 7P
P
R RVE
S\/\D_PUFL 5’\\{'%: qul; Y__,@t_.- —ve 1'
I+ LivR
Biup
. 3 | &b
N7 = Zlu P x baxit _
e —
563 x10°%y% 20

h-"ZJma\L < 30 Fee

%
3% y &OHx 10
2 T

S
B bg X 0° X 20



P@}JE M _it——li_i ( _t)r _g 3-}{ h 7-43.  The beam is subyj

ected to the loading shown, v
P = 7TkN. Determine th

€ average shear siress develops
in the nails within

region AB of the beam. The nails -
leeated on each side of the beam and
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are spaced 100 o
1.

apart. Each nail has a diameter of 5 mn
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